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15811110 Zug hpugui 92 g 350 273175,0 [780,5
15851100 Uwljupniknki 9z g 300 39630,0 [132,1
15321000 Unpquhinip Qz 1hwp 300 39630,0 [132,1
15421100 Fniuwljuih jnun Qz 1hwup 620 44640,0 |72,0
15616000 Zinjugnpkh Qz lig 600 108060,0 [180,1
03211300 Pphtd Q2 g 350 46235,0 1321
16331153 Nuuy Q2 lig 730 61320,0 84,0
15112110 Zunjh Ypdpunthu Qz lig 1850 333185,0 |[180,1
15331154 Mnn Qz lig 340 244834 72,0
15530000 Yuipwg Qz g 3300 237600,0 |[72,0
03142510 2n1 01 upg Q2 hwwn 70 168070,0 [2401,0
15612180 Upnip pupdp wkuwlh Q2 g 350 16800,0 (48,0
15831000 Cwpwpwywgq uyhwnwly Qz lig 390 14040,0 36,0
15872400 Un 74 lig 150 2700,0 18,0
156541100 TNwlhp/innh - Q.2 laq 1820 21840,0 [12,0




